Journal of Mathematical Extension Vol. 9, No. 2, (2015), 1-8 ISSN: 1735-8299 URL: http://www.ijmex.com

# On the Capability of Finite Abelian Pairs of Groups

#### A. Hokmabadi<sup>\*</sup>

Payame Noor University

### M. Afkanpour

Ferdowsi University

### S. Kayvanfar

Ferdowsi University

**Abstract.** A group G is called capable if it is isomorphic to the group of inner automorphisms of some group H. The notion of capable groups was extended to capable pairs by G. Ellis, in 1996. Recently, a classification of capable pairs of finite abelian groups was given by A. Pourmirzaei, A. Hokmabadi and S. Kayvanfar. In this paper, we give a different characterization of capable pairs of finite abelian groups in terms of a condition on the lattice of subgroups.

**AMS Subject Classification:** 20K01; 20D30 **Keywords and Phrases:** Capability, pairs of groups, finite abelian groups

## 1. Introduction

A group G is called capable if it is isomorphic to the group of inner automorphisms of another group, or equivalently  $G \cong E/Z(E)$  for some group E. As P. Hall [3] remarked, characterization of capable groups are important in classifying groups of prime power order. The study of

Received: June 2014; Accepted: October 2014

<sup>\*</sup>Corresponding author

capable groups was started by R. Baer [1], who determined all capable groups which are direct sums of cyclic groups. Consequently, all capable finite abelian groups are characterized by R. Baer's result. Recently, Z. Sunic [5] provided a different characterization of capable finite abelian groups by considering a condition on the lattice of subgroups. He proved that a finite abelian group G is capable if and only if there exists a family  $\{H_i\}_{i\in I}$  of subgroups of G with trivial intersection such that the union generates G, and all quotients  $G/H_i$   $(i \in I)$  have the same exponent. The theory of the capability of groups was extended in an interesting way to a theory for pairs of groups, by G. Ellis [2]. By a pair of groups we mean a group G with a normal subgroup N, and it is denoted by (G, N). Ellis [2] defined a capable pair of groups in terms of a relative central extension. In 2011, A. Pourmirzaei, A. Hokmabadi and S. Kayvanfar [4], determined all capable pairs of finitely generated

**Theorem 1.1.** ([4]) Let G be a finitely generated abelian group as follows:

$$G = \langle x_1 \rangle \oplus \ldots \oplus \langle x_m \rangle \oplus \langle y_1 \rangle \oplus \ldots \oplus \langle y_r \rangle,$$

where  $\langle x_i \rangle \cong \mathbb{Z}$ , for  $1 \leq i \leq m$  and  $o(y_i) = d_i$  for  $1 \leq i \leq r$ , such that  $d_{i+1} \mid d_i$ . If  $N \leq G$  such that  $N = \langle x_1^{\alpha_1} \rangle \oplus ... \oplus \langle x_m^{\alpha_m} \rangle \oplus \langle y_1^{\beta_1} \rangle \oplus ... \oplus \langle y_r^{\beta_r} \rangle$ , then (G, N) is capable if and only if

- (i)  $m \ge 2$ , or
- (*ii*)  $m = 0, r \ge 2$  and  $d_1 \mid [d_2, \beta_1]$ ,

abelian groups as follows.

in which  $[d_2, \beta_1]$  means the least common multiple of  $d_2$  and  $\beta_1$ .

In this paper, we give a condition in terms of proper subgroups which is equivalent to the capability of the pair (G, N), where  $G = \langle y_1 \rangle \oplus \ldots \oplus \langle y_k \rangle$ and  $N = \langle y_1^{\beta_1} \rangle \oplus \ldots \oplus \langle y_{k-1}^{\beta_{k-1}} \rangle \oplus \langle y_k^{\beta_k} \rangle$ , such that  $o(y_i^{\beta_i}) \mid o(y_{k-1}^{\beta_k})$  for  $1 \leq i \leq k-2$ .

## 2. Main Result

The following lemmas are essential to prove the main result.

**Lemma 2.1.** [5, Lemma 2] Let  $A = \langle a \rangle \cong \mathbb{Z}_n$  and  $B = \langle b \rangle \cong \mathbb{Z}_n$ , where n > 1 and let C = AB be the direct product of A and B (written internally). Let X be the set of elements of C of order n.

(a)  $a^i b^j \in X$  if and only if the greatest common divisor of i, j and n is 1.

(b) For every  $x \in X$  there exists  $y \in X$  such that,  $C = \langle x \rangle \langle y \rangle$  as an internal direct product.

(c)  $C = \bigcup_{x \in X} \langle x \rangle.$ 

**Lemma 2.2.** Let  $G = \langle y_1 \rangle \oplus \ldots \oplus \langle y_k \rangle$  be a finite non trivial abelian group such that  $o(y_i) = n_i$   $(1 \leq i \leq k)$  and  $n_{i-1}|n_i$ . Consider

$$N^* = \langle y_1^{\beta_1} \rangle \oplus \ldots \oplus \langle y_{k-2}^{\beta_{k-2}} \rangle \oplus \langle y_{k-1}^{\beta_k} \rangle \oplus \langle y_k^{\beta_k} \rangle$$

as a subgroup of G such that  $o(y_i^{\beta_i})|o(y_{k-1}^{\beta_k})|$   $(1 \leq i \leq k-2)$ . Suppose that  $m = [n_k, \beta_k]/[n_{k-1}, \beta_k]$  and let  $p^t$  be the highest power of prime number p such that  $p^t \mid m$  and  $A_p$  be the unique subgroup of  $N_k = \langle y_k^{\beta_k} \rangle$  of order  $p^t$ . Then for any subgroup H of  $N^*$ ,  $A_p \subseteq H$  if and only if  $N^*/H$  has exponent dividing  $[n_k, \beta_k]/[\beta_k p^t]$ .

**Proof.** Assume that H is a subgroup of  $N^*$  that contains  $A_p$  and suppose that  $g \in N^*$ . Since  $o(y_i^{\beta_i})$  divides  $o(y_{k-1}^{\beta_k}) = [n_{k-1}, \beta_k]/\beta_k$ , for all  $1 \leq i \leq k-2$ , we have  $g^{[n_{k-1},\beta_k]/\beta_k} \in N_k$ .

So  $(g^{[n_{k-1},\beta_k]/\beta_k})^{m/p^t} = g^{[n_k,\beta_k]/\beta_k p^t} \in N_k$ , and  $o(g^{[n_k,\beta_k]/\beta_k p^t}) \mid p^t$ . Therefore  $g^{[n_k,\beta_k]/\beta_k p^t}$  belongs to  $A_p$  and  $(gH)^{[n_k,\beta_k]/\beta_k p^t} = 1_{N^*/H}$ . This implies that the exponent of  $N^*/H$  divides  $[n_k,\beta_k]/\beta_k p^t$ .

For the converse, let H be a subgroup of  $N^*$  and  $\exp(N^*/H)$  divide  $[n_k, \beta_k]/\beta_k p^t$ . Put  $g = y_k^{\beta_k}$ . By the assumption we have  $g^{[n_k, \beta_k]/\beta_k p^t} \in H$ . On the other hand, one can see that  $g^{[n_k, \beta_k]/\beta_k p^t}$  is an element of  $N_k$  of order  $p^t$ . This implies that  $A_p \subseteq H$  and the assertion follows.  $\Box$ 

Now we are ready to state and prove the main result.

**Theorem 2.3.** Let  $G = \langle y_1 \rangle \oplus \ldots \oplus \langle y_k \rangle$  be a finite non trivial abelian group, where  $o(y_i) = n_i$   $(1 \leq i \leq k)$ , such that  $n_{i-1}|n_i$  for  $i = 2, \cdots, k$ and  $N = \langle y_1^{\beta_1} \rangle \oplus \ldots \oplus \langle y_{k-1}^{\beta_{k-1}} \rangle \oplus \langle y_k^{\beta_k} \rangle$  such that  $o(y_i^{\beta_i})|o(y_{k-1}^{\beta_k})$ , for  $1 \leq i \leq k-2$ . Put

$$N^* = \langle y_1^{\beta_1} \rangle \oplus \ldots \oplus \langle y_{k-2}^{\beta_{k-2}} \rangle \oplus \langle y_{k-1}^{\beta_k} \rangle \oplus \langle y_k^{\beta_k} \rangle.$$

Then the following conditions are equivalent.

(a) The pair (G, N) is capable.

- (b) There exists a family of proper subgroups {H<sub>i</sub>}<sub>i∈I</sub> of N\* such that
  (i) ∩<sub>i∈i</sub>H<sub>i</sub> = 1,
  (ii) ∪<sub>i∈I</sub>H<sub>i</sub> = N\*,
  (iii) (N\*/H<sub>i</sub>) ≅ (N\*/H<sub>j</sub>), for every i, j ∈ I,
  (iv) H<sub>i</sub> ≅ H<sub>j</sub>, for every i, j ∈ I.
- (c) There exists a family of subgroups {H<sub>i</sub>}<sub>i∈I</sub> of N\* such that
  (i) ∩<sub>i∈i</sub>H<sub>i</sub> = 1,
  (ii) ⟨∪<sub>i∈I</sub>H<sub>i</sub>⟩ = N\*,
  (iii) exp(N\*/H<sub>i</sub>) = exp(N\*/H<sub>j</sub>), for every i, j ∈ I.
- (d) There exists a family of subgroups {H<sub>i</sub>}<sub>i∈I</sub> of N\* such that
  (i) ∩<sub>i∈i</sub>H<sub>i</sub> = 1,
  (ii) ⟨∪<sub>i∈I</sub>H<sub>i</sub>⟩ = N\*,
  (iii) exp(H<sub>i</sub>) = exp(H<sub>j</sub>), for every i, j ∈ I.

**Proof.** Let  $N', N_1, \ldots, N_k$  be subgroups of  $N^*$  such that  $N' = \langle y_{k-1}^{\beta_k} \rangle \cong \mathbb{Z}_{m'_{k-1}}$  and  $N_i = \langle y_i^{\beta_i} \rangle \cong \mathbb{Z}_{m_i}$   $(1 \leq i \leq k)$ . Then  $N^* = N_1 \ldots N_{k-2} N' N_k$ . First we show that (a) implies (b). Let (G, N) be capable. Then in view of Theorem 1.1, we have  $k \geq 2$  and  $n_k | [n_{k-1}, \beta_k]$ . Let for  $i = 1, \ldots, k-2$ ,

$$H_{i} = \langle y_{1}^{\beta_{1}}, \dots, y_{i-1}^{\beta_{i-1}}, y_{i}^{\beta_{k}} y_{k}^{\beta_{k}m_{k}/m_{i}}, y_{i+1}^{\beta_{i+1}}, \dots, y_{k-1}^{\beta_{k}} \rangle,$$
$$H_{k-1} = \langle y_{1}^{\beta_{1}}, \dots, y_{k-2}^{\beta_{k-2}}, y_{k-1}^{\beta_{k}} y_{k}^{\beta_{k}m_{k}/m_{k-1}'} \rangle,$$

and

$$H_k = \langle y_1^{\beta_1}, \dots, y_{k-2}^{\beta_{k-2}}, y_{k-1}^{\beta_k} \rangle.$$

**Step 1.**  $H_i \cong N_1 \dots N_{k-2}N'$ , for  $1 \leq i \leq k$ . It is clear that,  $H_k \cong N_1 \dots N_{k-2}N'$ . Also, since  $o(y_{k-1}^{\beta_k} y_k^{\beta_k m_k/m'_{k-1}}) = m'_{k-1}$  and  $\langle y_{k-1}^{\beta_k} y_k^{\beta_k m_k/m'_{k-1}} \rangle \cap \langle y_1^{\beta_1}, \dots, y_{k-2}^{\beta_{k-2}} \rangle = 1$ , we have  $H_{k-1} \cong$   $N_1 \ldots N_{k-2} N'.$ 

Similarly, one can show that  $H_i \cong N_1 \dots N_{k-2}N'$ , for  $1 \leq i \leq k-2$ .

Step 2.  $N^*/H_i \cong N_k$ , for i = 1, ..., k - 2.

It is clear that  $N^*/H_k \cong N_k$ . Using Dedekind's Modular Law, we have

$$\frac{N^*}{H_{k-1}} \cong \frac{N'N_k}{\langle y_{k-1}^{\beta_k} y_k^{\beta_k m_k/m'_{k-1}} \rangle}$$

On the other hand, since  $N'N_k = \langle y_{k-1}^{\beta_k} y_k^{\beta_k m_k/m'_{k-1}} \rangle N_k$ , we have

$$N^*/H_{k-1} \cong N_k/\langle y_{k-1}^{\beta_k} y_k^{\beta_k m_k/m'_{k-1}} \rangle \cap N_k.$$

Now it is enough to show that

$$\langle y_{k-1}^{\beta_k} y_k^{\beta_k m_k/m'_{k-1}} \rangle \cap N_k = 1.$$

Assume that  $g = (y_{k-1}^{\beta_k} y_k^{\beta_k m_k/m'_{k-1}})^s \in N_k$ , for some integer s. Then there exists an integer  $\ell$  such that

$$g = (y_{k-1}^{\beta_k})^s (y_k^{\beta_k m_k / m'_{k-1}})^s = y_k^{\beta_k \ell}.$$

Thus  $(y_{k-1}^{\beta_k})^s \in N' \cap N_k = 1$  and so  $(y_{k-1}^{\beta_k})^s = 1$ . Then  $m'_{k-1}$  must divide s. It follows that g = 1. Therefore  $N^*/H_{k-1} \cong N_k$ . Similarly one can show that  $N^*/H_i \cong N_k$ , for  $i = 1, \ldots, k-2$ .

**Step 3.**  $\bigcap_{i=1}^{k} H_i = 1$ . Let  $g = (y_1^{\beta_1})^{s_1} \dots (y_{k-1}^{\beta_k})^{s_{k-1}} (y_k^{\beta_k})^{s_k}$  be an arbitrary element in  $\bigcap_{i=1}^{k} H_i$ , such that  $0 \leq s_i < m_i$ , for  $i = 1, \dots, k$ . Since  $g \in H_k$ , we have  $s_k = 0$ . Also for  $1 \leq i \leq k-2$ ,  $g \in H_i$  implies that

$$g = (y_1^{\beta_1})^{s_1} \dots (y_{k-1}^{\beta_k})^{s_{k-1}} = (y_1^{\beta_1})^{r_1} \dots (y_i^{\beta_i})^{r_i} (y_k^{\beta_k m_k/m_i})^{r_i} \dots (y_{k-1}^{\beta_k})^{r_{k-1}},$$

for some integers  $r_1, \ldots, r_{k-1}$ . Then we have  $s_j = r_j$ , for all  $1 \le j \le k-1$ , and  $(y_k^{\beta_k})^{m_k r_i/m_i} = 1$ . Therefore  $m_k$  divides  $m_k r_i/m_i = m_k s_i/m_i$  and so  $m_i \mid s_i$ , for  $i = 1, \ldots, k-1$ . This implies that g = 1.

**Step 4.**  $N^* = \langle \cup_{i \in I} H_i \rangle$ . By hypothesis,  $n_k | [n_{k-1}, \beta_k]$ . It implies that  $m'_{k-1} = m_k$  and so  $y_{k-1}^{\beta_k} y_k^{\beta_k} \in$   $H_{k-1}$ . On the other hand,  $y_1^{\beta_1}, \ldots, y_{k-2}^{\beta_{k-2}}, y_{k-1}^{\beta_k} \in \bigcup_{i=1}^k H_i$ . Therefore we have  $N^* \subseteq \langle \bigcup_{i \in I} H_i \rangle$ .

Now the family  $H = \{H_i\}_{i=1}^k$  satisfies the conditions (ii), (iii), (iv) of (b), but this family is not enough for condition (i). Therefore we need to extend this family to a larger family of subgroups such that all conditions hold.

Since  $m'_{k-1} = m_k$ , we can consider  $n_{k-1}/(n_{k-1}, \beta_k) = n_k/(n_k, \beta_k) = m$ . Put  $X = \{x \in N'N_k | o(x) = m\}$ . Assume that  $H_x = N_1 \dots N_{k-2} \langle x \rangle$ , for all  $x \in X$ . It is clear that,  $H_x \cong N_1 \dots N_{k-2}N'$ . Also by part (b) of Lemma 2.1,  $N'N_k = \langle x \rangle \langle y \rangle$ , for some  $y \in X$ . Then we have

$$\frac{N^*}{H_x} \cong \frac{N_1 \dots N_{k-2} N' N_k}{N_1 \dots N_{k-2} \langle x \rangle} \cong \frac{N' N_k}{\langle x \rangle} \cong \frac{\langle x \rangle \langle y \rangle}{\langle x \rangle} \cong \langle y \rangle \cong N_k.$$

Also in view of part (c) of Lemma 2.1,

$$\bigcup_{x \in X} H_x = \bigcup_{x \in X} N_1 \dots N_{k-2} \langle x \rangle$$
  
=  $N_1 \dots N_{k-2} \bigcup_{x \in X} \langle x \rangle$   
=  $N_1 \dots N_{k-2} N' N_k$   
=  $N^*.$ 

Now the union of families  $\{H_i\}_{1 \leq i \leq k}$  and  $\{H_x\}_{x \in X}$  satisfies the condition (i), (ii), (iii) and (iv) and the result holds.

Clearly (b) implies (c) and (d).

Now, we show that (c) implies (a). By Theorem 1.1, it is enough to show that  $k \ge 2$  and  $n_k | [n_{k-1}, \beta_k]$ .

## Step 1. $k \ge 2$ .

By the method of reductio ad absurdum, suppose that k = 1 and G is a cyclic group. Then for every subgroup  $H_i$   $(i \in I)$  of  $N^*$ , we have  $\exp(N^*/H_i) = |N^*|/|H_i|$ . Then condition (iii) implies that  $|N^*|/|H_i| = |N^*|/|H_j|$  and thus  $|H_i| = |H_j| = d$ , for all  $i, j \in I$ . Since  $N^*$  is cyclic, it has a unique subgroup of order d. Hence the family  $\{H_i\}_{i \in I}$  contains only one subgroup which is a contradiction. Therefore  $k \ge 2$ .

**Step 2.**  $n_k | [n_{k-1}, \beta_k].$ 

By the method of reductio ad absurdum, suppose that  $n_k$  does not divide  $[n_{k-1}, \beta_k]$ . Then  $m = [n_k, \beta_k]/[n_{k-1}, \beta_k] > 1$ . Assume that p is a

prime number which divides m and  $A_p$  is the unique subgroup of  $N_k$ of order  $p^t$ , where  $p^t$  is the highest power of p such that  $p^t | m$ . Also, let  $p^T$  be the highest power of p such that  $p^T |[n_k, \beta_k]/\beta_k$ . On the other hand,  $\exp(N^*) = [n_k, \beta_k]/\beta_k$  and also  $N^* = \langle \bigcup_{i \in I} H_i \rangle$  by condition (ii) of (c). Hence there exists at least one subgroup in the family  $\{H_i\}_{i \in I}$ whose exponent is divisible by  $p^T$ . Let  $H_j$  be such a subgroup with  $p^T |\exp(H_j)$ . Since  $H_j$  is abelian, so it contains an element h of order  $p^T$ . Then  $h^{p^{T-t}}$  is an element of  $N_k$  of order  $p^t$ , and so  $h^{p^{T-t}}$  generates  $A_p$ . This implies that  $A_p \subseteq H_j$ . Then using Lemma 2.2, one can see that  $\exp(N^*/H_j)|[n_k, \beta_k]/\beta_k p^t$ . Hence by condition (iii), we have  $\exp(N^*/H_i)|[n_k, \beta_k]/p^t$ , for all  $i \in I$ . Therefore in view of Lemma 2.2, every subgroup  $H_i$  in the family of  $\{H_i\}_{i \in I}$  should contain  $A_p$  and so  $A_p \subseteq \bigcap_{i \in I} H_i$  which is a contradiction.

Using a similar method one can see that (d) implies (a) and hence the proof is completed.

## References

- R. Baer, Group with preassigned central and central quotient group, Trans. Amer. Math. Soc., 44 (3) (1938), 387-412.
- [2] G. Ellis, Capability, Homology, and central series of a pair of groups, J. Algebra, 179 (1) (1996), 31-46.
- [3] P. Hall, The classification of prime-power groups, J. Reine Angew. Math., 182 (1940), 130-141.
- [4] A. Pourmirzaei, A. Hokmabadi, and S. Kayvanfar, Capability of a pair of groups, Bull. Malays. Math. Sci. Soc., 35 (1) (2011), 205-213.
- [5] Z. Sunic, On capability of finite abelian groups, Arch. Math., 93 (2009), 23-28.

#### Azam Hokmabadi

8

Department of Mathematics Faculty of Science Assistant Professor of Mathematics Payame Noor University P.O. Box 19395-4697 Tehran, Iran E-mail: ahokmabadi@pnu.ac.ir

#### Marzieh Afkanpour

Department of Mathematics M.Sc of Mathematics Ferdowsi University P.O. Box 1159-91775 Mashhad, Iran E-mail: maafkanpour@gmail.com

### Saeed Kayvanfar

Department of Mathematics Associate Professor of Mathematics Ferdowsi University P.O. Box 1159-91775 Mashhad, Iran E-mail: skayvanf@math.um.ac.ir